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Ch- Addition

BASED ON N.C.E.R.T

Q. Arrange the given numbers in vertical order and
add.

a. 4323 + 4893 + 1034 =. 4 3 2 3

+ 4 8 9 3

1 0 3 4

1 0 2 5 0

b. 5840 + 4387 + 7221= C. 2356 + 1323 + 4234=

d. 1653 + 5269 + 5844= e. 2342 + 3823 + 4832=

f. 5332 + 342 + 70= g. 3437 + 154 + 32=

h. 3433 + 242 + 12= i. 5613 + 506 + 92=

j. 3726 + 432 + 88= k. 4040 + 223 + 48 =



Q. Add the following :-(with carrying)

Q. Word problem :-
a. A farm has 2689 hens, 1028 cows and 3845
sheeps. How many does the farm gave altogether?

b. There were 3725 boys and 3085 girls in a school.
How many children were there altogether?
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